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1. “In a certain code language XYZA is written as
1234 and EFGH as 78910. How is AXGE written
in that code language ? Y/J
(1) 4217 ( Cr?
(2) 4197 . m

% O '
3) 4179 H : ) % H
. (@) 4917 c & .

(5) pted 5 :l :

6

L=
< certain code language DFGHJ is written as
FHIJL. How is AUDIT written in that code
: language ? » ’

(1) CWPJV

(2) CWEJV

(3)
4.
(6)

using the letters of the given word :

VERIFIED 3:60
- (1) FRIEND
(2) DEFER / \

DRIVE

e))
@

Notattem tedl :

Three friends Amita, Babita and Chanchal went
to a restaurant. When the bill was received,

5 SO
An':ita paid = as much as Babita paid and
Bablga/ aid s as much as Chanchal paid. If the
b1ll paid is T 360, then what is the amount paid

ﬁwﬁuﬁrmg‘ﬁm%m%? C (% P { by Babita ?
M 760 x B i (1), 760 =D Cul
A2 180 ‘ 7 (@ 180 Tl
i (\q,s: : | B &, /
100 %‘N} P (8) T 100 ﬁ c
4) 200 < v (4) <200 n Ixe
L (5) I T o <R ) Notattemp"éf e
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3
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FYT :

(1)
2
(3)
4)
(5)

P,Q,R,S,Tmﬂml?‘Q’W§%,‘ﬁ@
pa Mm@t RETEERN PHE Y
o, SR T R ' : e
PH R Y M GEY 8 ?

@ fn |

(2) WS

@

(4) <=l
(5) IR TE A =TEd
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Connect

8. i
What is the value of ‘o i i pattern ?

XaL=2

PaH=2 g

LaF=2 @ -
(1 - :
(2) + @
@ = A
@) x @g\
(5) Not attempted '

three

6 Three ° statements are followed by
o be true even

monly
given

- conclusions. Take the statements t
if they seem to be at variance from the c0™
known facts. Decide which of the

conclusions logically follow(s) from the given

statements.
. Statements . Some apples are grapes-
~ - All grapes are bananas.

Some plums are grapes.

Conclusionsy (D)

' Co (II)
(I1I)

Only F:and III follow

Only I and II follow

Only II follows

Only III follows

Not attempted

Some bananas are plums.
Some apples are bananas.
[ All bananas are grapes.
1)
(2)
3
(4)
(5)

A, Q, R, S, T went on a picnic. ‘P’ is the son of ‘Q’.
But ‘Q’ is not the father of P”. ‘R is the son of °S’,

who is the brother of P’. ‘T is the wife of ‘S”.

How is ‘P’ related to ‘R’ ?

(1) Father . %) ST
(2) Nephew w

(3) Brother D — P\
(4) Uncle Q K 8 ¥

(5) Not attempted ’ ’
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Vacancy Connect

. Choose the alternative which best expresses the 3)/ .
given sentence in Active Vojce. .z Choos,e the alternative Which best expresses th,
m . e
It is being read by us. . . eaning of the underlineq

"Hehad ah djogt, '
e had a hair-breadth eg '

have to . . T €8cape from the g¢g;

4 (1) We hav read it. (1) impracticg] éccndent.

(2) We are reading it, (2) very safe

| 3 It will be read by us. “(3) narrow
(4) We can read it. - (@) fighting
: (5 )
(5) Not attempted | ) Not attempted
|85 -
2 ‘ k _ 5 ind out the correctly spelt word.
?;k‘ 32 Read the sentence to find out whether there is] ‘ (1) pretantiosness
& any grammatical mistake in it. / ) (2) pretantiousness
Mark the number of the part with error as your| . ., @ pretentiousness
answer. If there is ‘no error’ mark (4). +(4)_~prettentiousness ’
B Not attempted
The scientist was seemed to be excited ' ,
A LB 8- Finc out ihe correctly spelt word. "~
over the result of his experiment. 4 . (0 thesoraus At
e ! 1. () thasaurus . = o
1 C ' ' ~ (3) thisaurus :
@ A | @ thesaurus
5 @ B o ® attempted
) (4) No error ‘ : 7 T |
' (5) Not attempted |3%". Select the word that is most similar in meaning
4{ _ a to the given word.
ﬁﬂeanange the following parte of a sentence ‘ " ; Prosaic ‘
labelled as PQRS to inake a meaningful| @ (1) [Patriotic :
sentence. e o (2)  Uninspiring
P. leavenoregretare | (8) Poetic

- I @ C
Q. gained over ignerance L @

‘ _ attempted
R.  the only victories which b - :
S.  those W:hich are. | |8 ife history of a man written by himself is called |
(1) QRSP . / © (1) Bibliography
(2) SRQP B 1 | @ Biography
/s ] o s
4 PQSR ‘ | @ Calligraphy
(5) Not attemp@ 5 | (6 Not attempted

4 ——
- : WORK
MARA/D2/Page 8  tewr % forg vum ) SPACE FOR ROUGH |




Vacaney. Connect

followi"g passage carefully and . eplace
Read thegg g0and 41 i Which of the phrases given below should rntence
questi" ’ ¢ the key wildlife species in the k. the phrase underlined in the following €
Tiger i one © i authorities realised that the hh' to make it grammatically correct ? '
w12 19 g dwindled very fast. The major thyge | “She showed courage in advocating policie® "I
popula'd°n haation are numerous such as poachipg o - : were not common acceptability then.”
to tiger p(?P ing pabitat, depletion of prey base gpgp " ‘ (1) commonly acceptable then)
trade, 4o of iger skins and the use of their s (2) commonly accepted then
etc. Thf Fraal nedicines left the tiger population‘m ﬁ ‘j:‘f' (3) then common acceptability
in tmdltfmen sinction. Since India and Nepal m ﬁ (4) common in acceptability than
verge O i

two-thirds of the surviving o

. to abollt
habrla:;_on in the world, these two nations bheegy
& _ ; ) g
zOP * argets BT poaching and illegal trading. “Proj

one of the well-publicised wildlife campaign

(5) Not attempted

Choose the most appropriate preposition to fill in
the blank. g

Tiger”, : : |
thze world, was lsunched in 1973. In India, Tig Visitors in the garden are prohibited
conservation has been viewed not only as an effort walking on the grass.
save the endangered species but also as a meang . (1) to

j i i (2) from

ing b of sizeable magnitude.
e @ with
4) for

skin and bones of tiger are also
. (6) Not attempted

(1) in preparation of food products ) AN

(2) asraw material in small factories

(3) in traditional medicines

(4)  to save tiger from extinction ‘

yt attempted -4
The major threat to tiger populatiors is 3

(1) Industrialization (8) to not attend

(2)  Lack of Tiger Reserves _ : - (4) not to attended -
(3)  No Government policy B | 5) ' Not attempted
(4)  Poaching for trade
(5) _Not attemptegd

Kill in the blank with the most appropriate
option given below.
He was advised _the seminar without
preparation.

(1) tonot to attend
(2) not to attend

Which one is the correct indirect narration
following sentence ? :

He said, ‘Two and three is five.’

of the

4 i o
Find out o Word from the above passage

th

(1)e antonym of egap (1) He said that two and three were fiyq

) Hent ~ (2) Hesaid that two and three are fy,

@) f Ction ' (3) He said that two and three is five
e He said that two and )

(4) illega) (4) e said that two and three wag five,

. (5) Not attempted
E FOR ROUGH WORK T

(5) NOt atte
m

T @ & fore §
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45,/ o 1T T TR 7 Vacancy 01 hiclsis the state animal of Haryana ?

1 o (1) Horse
(2) &R ' (2) Elephant
(3 e fe (3) Black Buck
(4) ™ (4) Tiger
) IR & = (5) Not attempted
47, e # T4 s g w@ wfegw 9 47 When was the State Council Of: Educationg|
T G ? Research and Training established in Haryana?
(1) 1965 , (1) 1965
2 1979 o (2) 1979
(3) 1970 (3) 1970
(4) 1960 © (49 1960
(5) I AE <A AR (5) Not attempted
%&éﬁﬁm%g@m%mammﬁj Which fort is known as the Gateway of Haryana ?
27 | (1) Mahaw Fort
(1) e #1 foem : (2) Gghana Fort
(2) e 1 fhen 5 (3) Pahadurgarh Fort
(3) e W Fhen | @ Kanod Fort
(4) Fe =1 feen . (5) Not attempted
w}ﬂ?ﬁha@ 149.  Haryana is located around 300 miles North of the
487 WA % 300 e s Fagd | e
g; :;:;@1 » , 2 Tropic of Capcer
3) W ’ (3 Tropic of Capricorn
@) Yai ; - : (4) Greenwich line
S e p— (5)‘ Not attempted
et ;[ ST st o |
g; ::T (1) Faridabad
. (2 Rohtak
I s— ' (3) Panipat
5) Im 3 Sit . E:; zamunanagar
M : ot attempted

% W1 & frg vy gPACEFORROUGHWORK e |




glsﬁmﬁm%ﬁa '-onn/egi
51, 199 ada B § 2 .
//ﬂ 3 P qﬁa < Who wa?. the first Indian to be appoin‘ted as tlil;%l
S '
@ ¥ e e (1) Alok Singh
@ °" ﬁm 4 (2)  Sir Chhotu Ram
(4) e (3) Dr. Sarup Singh
(5) I 7 (4) Gopal Singh
' (5) Not attempted
e T ¥ vedt forel ST 7 e e (S \
s 1994 When was the first Haryana State Finance
‘ (1) 169 A Commission formed ? ‘ i
@ 27 1994 (1) 15% October, 1994
(3) 317, 1994 2) 2" June, 1994
@) 2635, 19:;% (3) 31° May, 1994
I T

(4) 26 April, 1994
(5) Not attempted
M.K. Gendhi was arrested on which date from

Palwai railway éta_tioﬁ while going to Punjab to
protest against the Rowlatt Act ?

(1) 10%" April, 1918

4)

(
e
97

(1) 1039, 1918
(2) 10 3%, 1915

yz.ﬁ.maﬁmmmﬂaﬁmm"
m,matﬁzmﬂﬁmmm

o 40 2 10% April, 1915
0 WL S @ 10%April 1917
), “OSa, 03 - @ 10t April, 1919
o), S s - i: (5) Not attempted

s % forl mewsme W T TR T t? '31 . What is the ancient name of district
(1) T ‘ :W; ; . Mahendragarh in Haryana?
(2) wHivea . %,;‘\ : Fl) Saty.evpuram
(3) m i ] *”i:’ ,' (2) Ka.pfsthal
4) e (3) Sairishaka
(4) Kanoud

(5) T8 &M e (5) Not attempted

55, frafers ) wafeat g % fow f 3
St €2

The Shivalik Hills are not found in which district
of Haryana ? ' ;
(1) Sirsa

w m (2) Panchkula

i) (3) Ambala

(3) & 4) Yamuhanagar

4) IR (5) Not attempted P
—_©  FoR ROUGH WORK |
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Vacancy Connect
[ e A R T e

H’lsnammﬂq

% Rt 1 et g QA = 2 The fort of Asigarh situated in Hansi was bullf
1) 17 &  Prithviraj Chauhan in which century ? i
(@) 124 =& ) 17 cengyry

3) 159 & @ 12 century

4) 14 & @) 15th century

- @ 14% century
(5)  Not attempted

‘Thakur Ram Singh
Lala Murlidhar

. Pt. Nekiram Sharma
" Ram Kishore
Not atfempted

5 ﬁq%f@aﬁ@ﬁﬁ%&mmwmmmm%

ien ' %1 whew ,,1 Hm_yana A,
(2) i wEd (1) -Iszahlm Surifs Tomb
3) Ja wEd : Sheesh Mahal
(@) Yo o i wwn

JalMahal B

b & Sheikh Chillf's Tomb

, Not attempted
ﬁﬁﬁmaﬁiﬂmmﬁmmw e e

& T S 2

(1) <gaEi , i s

@ Chanmyag
Loor

Q) =% )
Daph

4) =mww

& & =rEd : -_Not attémptéd
w&amﬁmwmm%ﬁqﬁf@aﬁ’
’Tﬁﬁganmv

1) & »Sihi.
. (2) wWrgy ‘Mokhra
% | 3). T Nahri
L. @) e Jantikalan .
* = e Notattempted T
O WA -

nououwom(
MARAD2/Page 12 T% =T % 1Y T |



g, e B S FR Pacncy; Connect

Q) EYR ‘ /}/ﬂ"’hmh district in Haryana has the highest
@ Jgdd literacy rate 9
(1) Kaithal
3 T :
@ Biﬁ,?n (2)  Rohtak
e 781 &1 STed | (3) Gurugram

(4)  Panchkula
5 31 femw, 2017 % T wamwn § gy ™ pgy| @ Notattempteg
s 1 e €9 F0 R 2 5 ‘

o 182, What is the full form of BBY scheme launched on
(1) W December 31, 2017 in Haryana ?
EEIELIRIEE ‘
(2) : - (1) Bharatiya Bimg Yojana
(3) Tl e A , 9 ) oo
‘ . (2) Bagwani Bima Yojana
(4) WA W AT . ® Bijali Bachao Yojana '
‘n}aﬂ 7 & aed . ' ;‘ (4.) Bhavantar Bharpayee Yojana
: , .  (8) Not attempted
=/ 1 mﬁﬁmaﬁmmamm(nm)mm:;z :
' JHTH g3 ? ' .48 In which year was the Direct Benefit Transfer
(1) 2015 | (DBT)Schome launched in Haryana ?
& G : & (1) 2015
. ; M (2 2011
(4) 2014 R (2
¥ @ 2014
(5) IR T =R .
6/‘ - '%  (5) Not attempted
! :
< gREmm 7 yfy foseht 6 @ya 21w "
s # Tt 2020 -2 o5 What is the increased per capita consumption of
T ﬁﬁﬁ:ﬁ Rme i electricity in the year 2020 - 21 in Haryang 2
(1) 1540-45 7fe | O 154045 units o
(2) 1000 7fye : - [L (2 1000 units
(3) 180545 3fe | 3 180545 units
4) 120045 gf¥e e | @ 120045 units

5 TE & G I : ' ¢ (5) Not attempted

sREm Ty TR % ey a¥ 202223 #A gfa qH ﬂ. What is the percel;tag'_e of" total expep P
EDl ﬁ;ﬂ:n ‘Slﬁma Eﬁ‘m 83 3 =57 ¥ R ﬁﬂﬂﬁm allocated tow#ohce in Hm.yana Stats

TR 9 ok Budgét for_ the cial year 2022 _ 239
(1) . 219 J;‘ (D j;::
e . Bl
®) 439 = N3
| 4) 62%
& -~ | (5) Notattempted wo
WA ) W?@fhm | — :;"FOR ROUGH WORK RCE i SO+
RAD2/Page 13 TgPACE % : |



66.

79 ﬁ%ﬁam%hﬁﬁmﬁﬁmﬁh '
%éaﬁzozzm‘wsﬁ’-mmqm.'

(5) mqﬁhm
—\ i

Vacancy Connect

5 T R T orad o vt 3 o T R 2

~

(5)” I T 3 =

1958ﬁgqrrgﬁgaﬁzﬁﬁwﬁmaﬁméqzé

FETS B § 7
(1) e T grae
(2) u=H fiw

]

4) "R 9t o

(5) 7 T8 ¥ = | %/"
69. # fFr il B D e

. A ghemon’ *tr
STdl g ?

OV

(2) W

@) Hfeafy

(4) g

(N 3 ¢ 3 e

i

™ 9
(1) g Fax

(2) Eﬁmaﬁ-ﬁ

(3) aﬁ‘lmﬁd}
(4) tﬁ?ﬁ?ﬂam .

-—

6g,

11817,

TN
' (3) VWM Sews ’ Tl

. |69
" .

)
(@)

@

) Which breed of buffalo is cal

@2

@

: ana is aw
Rani Lakshmi Bai Award in Hary Ardgy
.in which area ?

(1) Social Work

_(2) ' Literature

(3) Sports

(4) Science

(5) Not attempted

Shori Bazar in Rohtak is Haryanas l%ﬂt
market.

Wood
Cloth
(3) Grain
(4)

(5)

Auto Spare Parts -
Not attempted

Who is tho first wrestler to win a Gold Medal iy
Commonwealth Games in 1958 ?

Lila Ram Sangwan

(2) Sajjan Singh

Pahalwan Udaychand

(4)  Master Chandgi Ram s

(5) - Not attempted

led the ‘Black Gold of
.Haryana’?. KT,

(1). Murrah

(2) Bhadwari:
(8) Niti-Ravi
4)

(5) Not attempted

Mehsang

Which of the follow; ’ el
Haryaga;éceived the ‘;lnilap;}::, nal;t(;;; . ﬁj:hﬂ;
field of Science and Engjy, cering 7 in in

(1) Raghuvendrs Tanwg, i
Sumit Anti]

Om Prakash Gandhp;

Moti Lal Madan

()  Not attempteq

3)

Al oL ) — 1§PACE FOR ROUGH wom‘( : o
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ancy Connect

e = 0,
1. If the average of a, b, cis M and ab + B ca
then the average of 32‘, b2, ¢?is

X wh 1 oM
(R )
[ 2y M
3) 3m>
2
. (4) 6M
® b (5) Not attempted
& @ 221 il R
2. T 2 =1 s 21 If V2 = 1:4142, then %I e equal to
(1) 0-3652 1) 03652
! b
" 2 \
(2) 0-732 (2) 073 .,
(3) | 13142 (3) 13142
(4) 04142 4) 04142
(5) IR TE MR (6) No at(;mpbed

_— st & ‘“‘ R ! 4w T}}e di.mensions of a rectangular ﬂoox" of a roor.n
.. 33%“ I MO "ﬂ 5 < e :;2} m;:re;sed:y 4 me;rle;s .l‘;econ::e mbthe rat.lo
' Igl w‘ N o ¥ 7 * © and when decreased by 4 metres become in
& et & wi & fammd ¢ / . the ratio 2: 1. What are the dimensions of the
(1) 187, x 24 . "B floor of the room ? ' '
| el
@ 129, x g5 VY Tommpx S =D
’ {0 Y : w
) 167, x 127, i © b
3 16mx12m
@ 18, x 20, 4 18mx22m L7 \
(5) I i 3 sy (5) Not attempted
4,
WBOﬁaﬁmﬁwmmwm The ratio ofmﬂkbowatermso litres of 4
?ﬁmﬁﬁ,ﬂmw (forex #) =ren s R mixture is 7 : 3. 'I‘he\mater(1:1111;res)t,obe added
1‘13‘& Wiﬂamz:uhm? toﬂ,tomaketheratloofmﬂktowaterz lis
1) g 1 8
@) 4 @ 4
@ ¢ 4 6

Not attempted
RO ORK

it

%




75.

76.

77.

78.

Y

(5

M

T W 3 forg T | SPACE FOR ROUGH WoRK

Vacancy Connect

W@@3Hﬁﬁ6%%uﬁaﬁaﬂﬁmﬁm
R, FE(h SA-HANE i R, %4,913@“‘""3,
£

(1) T 4,096

@ ¥ 3,096

(3) 4,076

(4) ¥4,085 ‘ (‘/\ .
(5) I T T Tmmy

(@
M@ﬁmﬁmAamBﬁaﬁﬁaznq
W%lAﬁWmmqﬁaﬁ%ﬁqBﬁ

30 firre S o | A Y vicen wom o g # |

TR , -

1 2l A B
e 3 M i

2 19

@ 1ie 3 2
2 -

4 2w

(5) I T ¥ ==

J
% B Ao g A o, g G|

o %I:E
éaéﬁmﬁ%mﬁﬁm 10%H 2 | Dy &
W%

(1) 50 &t Auft

20 Tt qfy

¥ 1,70,000
¥ 1,20,000
¥ 1,25,000
¥ 1,50,000

Qv

| S |

75~

76.

78.

» 913 in 3 ye
‘The principal that amounts to T 4> ary

at

(1)
b))
&)
@
(5)

6—1-%
4

per annum compound intereg g
tompounded annually is : \ %7( 15
74096 y ) \T' |
T 3,096 ¢o |
T 4,076 X 1S
‘T 4,085 /J,ﬂr‘f{ 5%
Not attempted

In covering a certain distance, the speeds. of A
and B are in the ratio 3 : 4. A ta-kfs 30 mlm?tes
more than B to reach the destinatl.on. The time
taken by A to reach the destination is :

i ,’.‘( The length of one side of a right-

is twice the length of the othe
length of hypotenuse is 10 cm.

The area of the
triangle is :
1) 50 cm2 \ ’b L,
2 20 cm2
@ 331 cm2 2
D e TR
(5)  Not attempteq 3 ]

A sum wag investeq at g

. Simple ;
certain rate for 3 yearg o mte;est P
1% higher rate
time, it would

(5)

0

N

1) - 2‘—1—7hours '@@/I\ ‘..

2 vl |

(2)  1hour B

© B ,"1 . 3 C‘ | H\BO 1

1;) hours (3 __-__}‘ .;

(4)  ® hours (1 -
(5,—Not attempted

angled triangle
r side and the

f si E.ld it been invested at
h0 SI'mple ulherest fOI' the game
ave fetched ? 5,100 soiorst Tha

Not attem ted




a@raﬁxi‘lﬂ'(y( > : ¥ b
e TR M nqy Fonnect

_pwAAE: 7
(3y ‘ \ . 9. LCM of two prime numbers x and y (x > ¥) 18 161.
1 2 \t" The value of 3y - ) js .
@ -2 iy 2
(3) = d < (2). -2 5 %aﬂJ
@) 1 , ' ‘(3).—1 , ’
5 v A Ted ¥ @ 1 .
(5) Not attempted 3 \j 2
' SN
80. ©: feal wh @9 AR a1 3§ m 2 ‘}*"3 80. Six bells commence tolling together and tomat
4 TS, x:cach 8 AT, 10 AFvE qey 12% 3| intervals of 2, 4, 8, 10 and 12 seconds
a=0d d A dl 30fme A . wfdat . respectively. In 30 minutes, how many times do
s . . K?_ i these six bells toll together ? ; \A \
2_)0,7\3 & 1) 16 'hxj =)
(1 16 ' \_/\J § ‘ \
\® L@ 4 : ‘ S\
i - ) VI8 o 0 WFR” %
" " \.\ JL N Ui seem, VO
®) (b U\ . ) 157 3 ’)\7’ e
4) . 15 'V & .
) ')/ 2 ol (5) Not attempted ;
(5) I A & A 18 |
h ; | Bﬂf 11 LN 0-2689, then the value of aroh =
/ i e  SakTirRadaceti ue o 00003718
1 026893 @A ———— wEAE: | is: :
<R oo "0 & 0003718 % e |
' -4 @ 02689
(1) 02689 Mo e
“ \ﬂ | - (2) 2689
(2) 2689 . .
(3) 2689 A WSy -
13 2K @ 2%
(4) 26890 Qe 71 e '
_ (L0 (5) Not att.empted

(5) I T N e —Wo
. - 's;;:.‘.lf,m=—4 and n=-2 then the value of
m3-'3m2+3m+3n+3n2+n3 is :

82. aﬁ m=-4 T n=-2 %, ?ﬁ
m3—3m2+3m+3n+3n2,+n3?ﬂm317"’

O Gl af 3t - - (OIEOIEY

~ oY @ -124
: . // 4
@ -124 t | 4 -126 .&593/5@3"_'3(

4) -126 "CH-—-\{Q ?_‘le : | (5) Notattempted




Vacancy Connect

gy, T ¥ A 40 X qu ¥ | wt A 4 o @ T

2w v BT T | s e R g T Y

(1) 2916 fox S"

@) 2634 Tz )?7

W%
@) 27-36 Rr \ }t;/
r*

/9

4) 28X

A
(5) I AR }/
LD

84, A BA C3 TH AR i %W T 80,000, T 40,000
a1 T 80,000 fram for | B8 W & W@ A ¥
uﬁmm%wwm?mosogm a‘lmﬁ

ilk. From ¢
3G }a/A container contains 40 litres of milk.
o I T 4 Tt i g R e | T @ AR

container 4 litres of milk Was taken out

replaced by 4 litres of water: This process

repeated further two times. How much mill
" left in the container ?( o

1) - 29'i6 litres 3 *% xB—

/
(2) 26:34 litres )/( €
(3) 2736 litres. Q’?C
=) 1%

(@) 28 litres

it .

(6) Not attempted

84. ‘A B and C invested ¥ 80,000, T 40,000 ¢

B W fre R 2

.
.

(1) 79,000 : o

(2) ¥8,000

(3) ¥ 8,900

4) T 5,000 | 9

(5) wa‘é’fim'am%

8. A, B 30% U I R |€1ﬁ@mmaﬂ% g

% 80,000 respectlvely in a business. A left af
_six months. If total profit after eight months

T 40,050, then what is the share of B in

profit ?

- (1) T9,000

(@ 8,000

@) €8900

(4) ¥ 5,000

: (5) Not attempted

85, A is 30% more efficient than B. How much t
W, & wE QU FA A fopa Tu o, S h A ' Jwill they, working together, take to complet
Fhe I8 HA B 23&“‘3&‘{9“‘5‘3’_‘“%? . i .JObWh“’hAalonec"“ldhavedonem23day87
(1) 15%A ~ ol @ 15days
© 1 ﬁ:l ‘ ’ ‘ 12 .1.1 d;.iys. % Q
| ) : 1w e ‘\ ™0
¥ ool ) 13f | e 4 £ , rﬁQ
((’ '(4) 20— days
4) 9203 i |
) 20 - f&a ' - : \FIE
i (5) Not attempted
5) 3o 7 A =TEd . \{l/
e e “ : 4 ROUGH wom( g .
MARAID2/Page 18 : mwﬁtﬁqu sPA

y’ | >



Wﬂimﬁm% Macancy Connect
86 faee ¥ 71 afesRe 3133.7:; $ Wh h Import Error
: ?rgﬁ iy 3 en is the bu1lt -in exceptlon
1 & ‘E( .. raised ?
s % ‘n a
@@ ™ Aie=Ie I AT 7 L ‘ (1) It is raised when the index or subscript '
(2 () 7@ et ot =y N @ R _ sequence is out of range. i
e
@ ‘sﬂzm 1% F3d) foufy q@ et % (2) It is raised when the requested modu
& ( N % definition is not found.
5 A s e ARews st
(4) e a"@’ﬂ . (3) [Itis raised when the end of file Condltlon-bls
7 # w8 | : - reached without reading any data BY
(5) I ikl a7Ed input (). "
. (4) It is raised when a local or global var iable
. ; name is not defined.
e 8 1 T 58 0 1 S o
j 87. : | (5) Not attempted
7
At - L ,
(1 ® il : 1187, ich of the following is mof an example of
7re fem g5 (Q’aﬁﬁ) oy secondary memory ?
3) o AL ] (1) Read only memory :
W s, < (2) Hard Disk Drive (HDD)
i & (3) CDROM .
(5) W T o _ 3 (4) . Memorv Card -
1 (5) Not attempted
- 88, ﬁmﬁﬁaﬁﬁaﬂ:m@mﬂﬁaﬁzﬁm;

HERCRCHIE & B 88, Which of the following is mot a Database
" Management System (DBMS) ?

HTEHIGTR Tae . | : s

'/ (1) Microsoft Excel |
@ L ' | @ MysqL
- (3) IiEw B doc s | ® Oracde
(4) ¥MDB ) : ’, (4) MongoDB |
5) W’fﬁ'&mmﬂ (5) .Notattempted
W Yeafln - & W RE g Ahat is the name of the Networking TOpology _
™ aiﬁh:h’g ; ' where each communicating device is Connected t,
ﬁg;rﬁan%" | = acentral node ?
(1) RR i .| , @ starTopology
2) W e 7 ' (2) Bus Topology
3) fin : ' 1 (3) "RingTopglogy. !
@ iy . 0 # | (4 Mesh Topology SRS
- Z}m ; > ~ (5) Not attempted . 8 . '

™" / ROUGH WORK
W s#“‘m

e & T



Vacancy Connect

”’/Amcle 395 of the Indian CO
also the final (last) Article 0

gtates the provision T

: following-?

90. i@ ¥ SEEA F1 sgedT 395 G dfe™ &
g 0 &, e 3 & o ST L
i d?
(1) TS H
() T T e, 1947 %1 FEA L
(3) oW H I @
() A weiv sifufe, 2019 A
(5) Wﬂ'ﬁimama ®
g1, TG S H1 WaY R : )
(D ﬂmﬁﬁmﬂﬁ%mQﬁq@
I ’ 7(1)
) e wagrstt ¥ ferg fod dfem 4

(3

4)

(5)

99, TN wAE I weR Il wg W IH o

FTT FI HED B

1) g ()

2 gasd @

(3) @A @

4) wim-faEA @

(5) Few 7@ &1 <Ted GN
‘A

93. ‘Frfy % o AT WRA H AL F TH
frrmmafma? -

e A B A ¥y svwE F

(2
- ®

g FEHT

el @ AerEs WA % fre W ]
s gra @ 1 W g @
T 7 2 < v ;5)

.Vsuch as stone or metal is called

nstitution which is
of the Constitution,

elated t0 which of the

Formation of New States
Repeal of the Indian Inde
1947 ' ’
Proclamation of Emergency

Citizenship Amendment Act,
Not attempted

péndence Act,

2019

93¢ ‘Matdata Junction’ refers to: [

name of a new railway station to raise voter

awareness.
special polling booth for Divyang voters.
training programme for officials to handle
postal ballot. o

radio  series produced by Election
Commission of India for voter awareness.
Not attempted :

e study of writings engraved on hard surfaces

Typography

| Caliigraphy
Epigraphy
Iconography . -
Not attempted

tryst with destiny’, is a‘ s o

1 'ﬂ.‘_lustrative of India’s independence ‘made b
which  of the following members of th
Constituent Assembly of Indja 9.

V.J. Patel
JL.Nehru

B.R. Ambedkar
BB M‘?kheljee
‘Not attempted s

(1) 3. = )

B S @

@) .gp. TR ®

9 W-‘ﬁ-éﬁf‘ﬁ @
e T T & forg v

esyiagiomaispame SSOMEDIRS




oo, A & 7 T 89 g amll

2R
@ TS T R oy

(b) meﬁﬂﬁﬂaa&aw@m

(a)

Connect

« Which of the fOllowing Statements is/are correct
about compounds 9

It shows the Properties of the constituent
substances,

© WA Eﬁ. bbb T . (b) The composition of each new substance is
Wﬁmﬂm%mmm% always fixed, .
; () The constituen S ted only by
e for m % hhy i Rico) bR Eﬁﬁq ¥ chemical or ele:tBr::l:e::c;fI::?tions.
(1) ad(a) b Choose the correct option from the codes given
@ (a) 71 (b) below :
(1)  Only (a)
® @ (2 (a) and (b)
4) (b7 (3) (a)and (c)
(5) I T & < @ (b)and (o)
' (5) Not attempted
i i ﬂq;;/é A - Which of the followi tate ts is/are correct
W%ﬁwﬂaﬂ ? ng statements i

(a) Fierigs T fawmmit fgor ¢
(b) ¥4 I H A B R @
mmmaﬁémﬁaﬁﬁs@mgﬁ
(c) mmﬁﬁéﬁﬁﬁamﬁfw_
mﬁm’émmaWﬁaﬁqwmiﬂ
ﬁﬁﬂWfdﬁﬁHﬁﬁmwaﬂﬁﬁqq B

. (a)
. (b)

£5)
\C,

about the properties of a Colloidal Solution ?

A colloid is a heterogeneous mixture.

The solute particles settle down when
colloids are left undisturbed, hence, colloids

- are unstable.

Colloids are big enough to scatter a beam of

light passing through it and make its path
visible.

Choose the correct option from the codes given

(1) %9 (a) g below : -
@) (a)au(b) ' ' (1) Only(a)
(2) (a)and (b)
() (a)aq
) © ¢ (3) (a)and (c)
o g @ (b)and (©)
AR LR - (5) Not attempted
%. 683 T foew TR # R ﬁﬁw goff 7' Which film won the ‘Best Film on Social Issues’
P 1 T W ot gaiss fhew © - Award in the 68" National Film Awardg under
™ 2 the feature films category ?
e - ' () Natyam (Dance) (Telugu)
(1)
@2 7 T " (2) Mandela (Tamil)
e (ﬂﬁra) | (3) Funeral (Marathi) T
@) R (Wﬂa’t) ' (4) Taledanda (Beheading a Life) (Kannagy)
W ' 4 ted I W -
. Atergy (¥ o ) (F%)- | (5) Not attemp :
L FOR ROUGH WORK ! Y
MA R ‘
RAD2/Page 21
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. . R A ‘ developed
97. it HHA, Teh Frgywen @ e ¢ ‘Demographic Transition’, conCeI:;es: rib:;e t:y
45 i fR R o, s fa@ @0 —— | Frank Notestein in o o
3 1 e
3 gai 1 AT FA R | relationship between econom® aoy
- (D) artographic bounda
2) gm'rﬁﬁ YUY I :
(2) Social crime rate
@ FHIIAR (3) Death and Birth rate
(4) mgmrt # Site gl (4) Loss of lives'in epidemics
(5) I TE A STEd (5) Not attempted
g8. T I # 7 i Hie s U fored #? ’98/ Nataraja is a bronze sculpture in a dancing
1) @ / ' position associated with____—~
@ F (1) Nandi '
(@ Krishn
- (2) Krishna
(3) Shiva
(4) Al :
! (40 Kali
(5) I A AT =D 5) Not attempted
99. m%mﬂ%ﬂ'ﬁﬁn%ﬁaaﬁﬂW-ﬁami , i & :
Rl %9 _ 499. Which of the following industries has th
3 ;t ’ maximum concentration  in the Chhotanagpt
1 FrAraTgd e Plateau region ?
@ < zEm (1) Automobile Industry -
(3) i 3R T 3a’|11 : (2) Sugar Industry ’
@ , (3) Iron and Steel Industry
9 RS IR (4) Fertilizer Industry
I
(5) Not attempted
100. : o
00. FmRry Prafafga # & fFl seefemwr &1 ofom | 0 ‘
T8 e e & 2 o y/Whch; am:ng the following will not be ordinar
a considered an outcome of globalization ?
) 1 Mu1t14lt.1teral trade agreements
. (2) Outsourcing
) F[a0Y
I (3 Tariff barriers
(4)
Yoy faesft faw (4) Foreign Direct Investment
5 :
-Q 78 & = (5) Not attempted
MARAID2/Page 22 e o) e P ——
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